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But this one and this ones mention Daytikoh’oys

Overview

7221 21 did not accept the resolution which 971 92 X2k 27 offered (that the 72w [which
indicates 1°1M31 110 MR K] is discussing a ¥ 2°5w, and the Xn»72 [which states X%
7°11°] 1s discussing a X°72), since both in the 71wn and it the Xn»72 it clearly states
*»°n>7 (which refers to a n"2w ninn). Therefore 7°21 27 maintains that both the mawn
and the Xn»71 are discussing a 1">w. Our n1©01N addresses the obvious question; how
can we say that they are both discussing a n">w, when in both the 71wn» and the Xn»92
it states explicitly minn (which means a X732 ninn).

n1voIN asks:
- 1’)3‘\‘,7 MINN NN M) ‘[1‘19‘)? 99NN ONY

And if you will say; but let the X713 ask on 1" as well; but it mentions nun», both
in the m1wn and the Xn*72 —

NID0IN answers:
= 01511 59599 41 17 IMIY YWY PNINMD 299917 0N 13929 9IIN)

And the n''9 says that the 71wn (when it states minn) is discussing a case where
the grantor stated explicitly (in the 7uw) that he is giving the recipient the ‘body’

(the land) and its produce as of today, with the stipulation that it will belong to the recipient -
= 37152 991 28127 20190 NN 1Y NN XY ON

If the grantor will not retract this gift until after he dies; in this case the grantor
may retract (this gift), therefore 171111 110 K ak; however the Xn*92 is discussing a ‘regular’

! We infer from the mawn that by m1n» the rule is 173M1 110 IR o8, however the X013 clearly states that by minn the
rule is 71 &2, The contradiction still remains. We cannot give the answer of 71122 X7 712 X7 for by a X2 nin» there
is no difference between the grantor and his son.
2 This means that the grantor reserved the right to invalidate this gift as long as he is alive..
3 The X032 says 1 X2 out of concern that perhaps he wrote two nuw; the found one was written first but was
never delivered, and the later written 70w was delivered, therefore the true owner is the second, but if we will return
the earlier dated lost "vw, he will illegally oust the true owner from the property since his 7uw predates the other. In
our mwn however the case is where in this lost 0w there was this stipulation that he is giving him the property as of
the date on the 70w as long as he does not retract. Therefore if the subsequent 0w was a regular X712 nin» without any
stipulation, there is no concern, for the second person will show his 70w, indicating that the grantor retracted his gift
to the first person (by giving the gift to the second person at a later date), and so the second one will retain ownership.
Similarly if the second 0w was written in the same manner as the first 7w, and the owner says give it to the first one;
it rightfully belongs to the first one, since he is now retracting from the second one. In short this (first) q0w is just like
a *p°n»7, for the owner reserved the right to retract this gift.
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7inn without any stipulation therefore we do not return it. forced
= 199590 PPN 1IN N ON IPON MINN 22T SWaY “PNT 7Y

And "9, with difficulty, interpreted the 71w that regarding min», even if the

grantor said, ‘give’, we do not give (and the inference from 121 79n1 Xnw does not apply to

minn) -
= 350 XIY DYDY 79120 15D 1PN IIN INY PNNINNDT XYY 99

And this is the explanation of our 71wn regarding 71n» (according to *"w7); “for I

say, they (the 71nn VW) were written, but he reconsidered not to give them’,

meaning not to give the gift to the original recipient -
= PYUNRAIY NINPDY W 1113 MTND N NNYY RIPINN YWIPINRD 2919

But rather to give it to another (second) person, but now (when the "vw was
found), the grantor wants to recant from giving it to the second person and wants

to give it to the first (original) person -
= 6193179 PN 199 9N ON 179N 759D

Therefore (by n11nn) even if the grantor said, 11n, we do not give it. This is regarding

71N W, where the 1011 cannot retract (from the second person) -
= 79915 9159 INNT JNI 70123 1D2ANT 123593 13N 9IN ON 7957 YaN

However regarding pons>7 (which are »">w ninn) in the mwn, if he said 1n, we
give it, for if he reconsidered and gave this n">w ninn» to another, he can recant.

mooIn has a difficulty with >"w19:
= 805399y %Wa NN PHINNT THNIT YWIT 15 DRT IVINAY NUP

And there is a difficulty with >"w-» for if indeed 7771 X»Ww by *p°n»T1 730H means
that he changed his mind to give it to someone else, it will turn out that the

explanation of 7921 in our ;73w» will be of two types; by v3 it will mean he changed his
mind not to give it all (to her), and by °p>n*71 min» it means he changed his mind to give it to
another person —

mooin asks an additional question on *"w75:
= 112999 191D 129N 12350 199N N NN PITT V) 22) DYDY I

4 There is also an inherent difficulty in the n"3 w1s, for he is qualifying the mwn that it is valid only in a specific
case, even though the m1w»n makes no mention of it. See ‘Thinking it over’.
S 701 Xp "2,
¢ The gift belongs to the second person and he cannot recant. Therefore by a 1nn there is no contradiction between
the mwn and the Xn>72; both maintain 11N PR 12N MR DX.
7 Therefore there is contradiction between the 71wn which maintains 1°3011 110 92X and the Xn*12 which maintains X?
77117, and 1" resolved it by saying, the m1wn is by the grantor and the Xn>*"2 is by his son.
8 Additionally, according to >"wa by mxp>n»7 if he says Pani 1un, however by min» even if he says 7im1 X an.
According to mooIn the ruling is always the same; 1°1011 130 IR OR.
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And additionally, previously’ regarding v» where the X3 inferred ‘but if he

said 110 we give it even 712172 1219°, however -
= 10557 W19 19 N3N 1992 139991 77U WI99Y

According to the wp of 51 >""w9, how do we know to explain and infer from

the 771wn in this manner (that [72177 7219 12°0%1] 1°3M1 130 1K OX) -
- PPY1Y VXN 1) RY NNPY WNNY XN 7997 DIVUN WD 597 Nt

Perhaps this is the understanding of the 71w», since it was T9»1, there is the

concern that perhaps the v3 was still not given -
= 12353 PPN 19N 99N ON 199N 799

So therefore even if he said 10 we do not give it, because it may be the wrong va.
2 (RN NNRN M7 RN TIPD NHYWIDTI NI ININ NNYY YIYUN TN PYY NON

Rather we must say, that the expression 7211 indicates that he does not want to
give it now, as I explained previously.

Summary
The case of minn in the 71wn is where he stipulated that he can retract the gift

(therefore it is like a °>n>7) so 312M1 110 MK oX. According to *"w the 721 (by minn
"»°N>71) means that he reconsidered and gave it to someone else (not like the 722
by v3), so therefore by *P>n>7 if 11011 130 MK, but by 71nn even 1f 171011 7R 110 K.

Thinking it over
What are the relative advantages of *"w2 175 and n" w17°0?

O R,
10 The inference that 11111 130 92X oX is valid if we interpret 7721 X2 to mean that he does not want to give it now;
therefore we can infer that if he does want to give it now (110 nR), then 1M1, However according to *"w1 the term
77711 (does not mean he does not want to give it now, but rather it) means that he does not want to give it to him but
rather to someone else, so therefore by v we can also say that perhaps he never gave her the v3 (as by the case of minn
[where he did not give the ninn to the (first) recipient]), so therefore even if 11n 71K, nevertheless 11011 PR, because
perhaps it is not the right va.
"' TIE (there) footnote # 6.
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